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Question 1. 
Why has the entire tertiary sector not grown in importance? Explain. 

Answer: 
The entire tertiary sector has not grown in importance 

because of the following reasons: 

• Peculiarity of skills in the tertiary sector: Highly-

educated and skilled professionals only are able to get 

employment. Other engage themselves in low-paid jobs. 

• High incomes: Higher incomes are available for the top-level 

administrative jobs only. Low-paid jobs do not attract 

employment. 

• No job security: Large number of workers are casual with 

irregular and low incomes barely to sustain livelihoods. 

Question 2. 

Why does disguised employment not help in productivity of a 

country? Explain with the help of an example. 

Answer: 

Disguised employment means that more number of people employed 

in an economic activity than required.  
 



If these extra people are removed, there will be no effect on the 

production. They seem to be employed but actually they are not. The 

workforce is not being used to its potential. They divide the work but 

do not increase production. 

They do not help in increasing the productivity as their efforts are not 

economic. For example, in the rural areas, the entire family is 

engaged in the production of crops on the same piece of land. If there 

are ten people in the family, three people can manage the 

production. If the extra seven people ard removed the productivity 

will be the same. They seem to be making no contribution. Hence, it is 

truly stated that disguised or hidden employment does not help in 

productivity of a country. 

Question 3. 
Explain the meaning of disguised employment with the help of an 

example 

Answer: 
The following are the features of the unorganized sector. 

• Working hours are more and harsh. 

• No job security is there. 

• No employment benefits are given. 

• Employees work in poor working conditions. 
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